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dz D) 21
d si ' —t
21:12 _ eXp(ZZ) +26Xp( ZZ) = COS 2 (518)

gbobobuoooobmogooboogoob
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5.2.1 0UOOOOOODOO

gbbooooobbuoooobbboooobbobuooobbboooon

exp(iz) = i ( (5.19)

O0000G:)"=m"000000n000000#=-1000000:0000000n
gboboggoobooooboo

= ()" = (-1, P =@ = (-1)™ (m=0,1,2,--) (5.20)

gbboboodgobbbnbU00ooobbooooobboooon

00 00 . 00 : 00 (22)2m+1
exp(iz) = > A
n=0,even n=1,odd TL' m=0 m=0 (2m + 1)'
00 )mZZm 00 (_l)mz2m+1
= R P e aa— (5.21)
S o T e

O0000OOexp(—iz) O exp(iz) 0 : 0000000000000 O00OODOOOOOOOOO
00000:0000000000000000000000000000exp(iz) 0 exp(—iz)
gbobboogobobooobboboogobobuooobobboooon

B 00 (_1)m22m _ Z2 Z4
COSZ—Tnzzjow—l—g—Fﬁ_"', (522)
) 00 (_l)mz2m+1 Z3 Z5

_ L E L 5.23
i mX::O Cmirl 3T (5.23)

gboobooooobooo

5.2.2 [0OQ

O00OO0Ocosz OOOODOOOOsinz OOOODODOODDODOODODOODODOODOOOOO T
gbobboog 0000

exp(iz) + exp(—iz) = exp{i(z + 1)} + exp{—i(z + 1)} (5.24)
o000 T7TODODO0O0O0o0O0ObOooooobobooooo

{1 — exp(iT) }exp(iz) —exp{—i(z+T)} =0
= exp(iT)=1000 exp(iz) =exp{—i(z+T)} (5.25)

gdouoouod :0b0uooooooood
exp(iT)=1 = T=2mn (n=0,£1,£2,--) (5.26)

gbobbuoooobbboogdg2rbnbog
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5.2.3 U0OOOOO

00000000 cos?z+sin?2=10000000000000000

{expu‘z) + exp(—i2) } . {exp(z‘z) — exp(—iz) }

2 21

cos? z +sin?z =

exp(2iz) + 2 + exp(—2iz)  exp(2iz) — 2 + exp(—2iz)

1 1 (5.27)
guooooooog
sinz U cosz 000
goddd ool 000000000000cosz0000O0O0
exp(iz) + exp(—iz) =0 (5.28)
ggdn
exp(2iz) = =1 = exp{i(2n+ )7} (n =0,£1,£2,---) (5.29)
guoooooog
2 1 1
v = ”; 7r:<n+§>7r(n:0,i1,i2,---) (5.30)
goodoooog
O00OsinzOOODOO
exp(2iz) = 1 = exp(i2n7) (n = 0,£1,£2,---) (5.31)
gdn
z=nm (n=0,%1,%2,---) (5.32)
goodoogoog
sinz [0 cosz 000
goodgoooooobobon
. ™ . LT . . . m . .
exp {z(z + 5} = exp (iz) exp <2§> =iexp (iz), exp {—z(z + 5} = —iexp (—iz) (5.33)
goodooog
o (z N z) _ ;XD (iz) — exp (—iz) _exp (iz) — exp (—iz) o dins (5.34)
2 2 21
“in (z N g) _,exp (iz) —i;axp (—iz) _exp (iz) —i—2exp (—iz) — coss (5.35)
i
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gbobboogobbooobobbuogobooooboboooboboobobbooobobon
gobg
O000Onr (n=0,+£1,£2,--) 00000000000000O0OCOCOOOOOOO

exp{=®i(z + nm)} = exp(+iz) exp(xint) = (—1)" exp(£iz) (5.36)
guoooooog
cos(z +nm) = (—=1)"cosz, sin(z+nw) = (—1)"sinz (n=0,£1,£2,---) (5.37)

gooo

5.2.4 UOUOOOOODOO

gbb00 tan O cot DUOOOODDODODUOOOOODDODOOOOOODOODO

sin z cos 2 1
tan z = , cotz = — = , secz = , cosecz = —,
CoS 2 sin 2 tan z CoS 2 sin 2

(5.38)

gboogbbogdbbugbobobbooboobboboob obboobooboobboo
gbobboogobbooobobbuogobboooobbooooobboooobooogoon
gbbbuoooobbbooobbbboooon

gboogbodbbddb tanz O0ODOOO0OODOOO0DOOOOOOOOO0OOOOODOOOO
UbbbO00 tanz OO ODOUOOO0OODODOOO0OOODOOOOOODO

tanz 0 OO
Oooo0o 0000 tanz:tan(z+T)DDDD TOoOOOOO

2+ T)} —exp{—i(z+T)}

—

exp(iz) —exp(—iz)  exp{i

)
)

exp(iz) + exp(—iz)  exp{i(z +T)} +exp{—i(z +T)}
exp(2iz) —1  exp{2i(z+T)} —1
exp(2iz) +1  exp{2i(z+T)} +1

= [exp(2iz) — 1][exp{2i(z + T)} + 1] = [exp(2iz) + 1][exp{2i(z + T)} — 1]
= exp(2iz)[exp(2iT) — 1] =0 (5.39)

0ooooo
2T =2min (n=0,+1,42,--) = T=mn (n=0,+1,42,.-) (5.40)

gbbboooobbboooob ~0ODOO

tanz 00O OO

gboodbodbbogobbougbbiboobdd coszd 000UOOOcosz 00OOMO
gbobbuoooobbbuoooobbboo

2 + 1 1
Zzﬁlgglf:(n+§>wop:miLizn) (5.41)
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gboooboogn
OO000000 Taylor-Laurent 0 000000000000 OOO0O0O0O0ODOOODOOODOO

1
DDDDDDDDDDDDDDDDDDDDDDDDDZZ<n—i—§>7r+wDDDD|w|DD
000 |lwl«100000000000w—-00000000000

cos (z + g + mr) = (—1)"cos (z + g) = —(—1)"sinz (5.42)

sin <z + g + mr) = (—1)"sin <z + g) == (—1)"cosz (5.43)

gboboobdaog

tanz = tan (mr + g + w) = s (mr i 7% i w) = (1) sn (%r - w) = _C?sw (5.44)
cos (mr + 7+ w) (—1)™cos (5 + w) sin w

O000Osinw O cosw O0000|w|00000000000O00ODOOOO

1— w4 .. 1
tanz = — 2w2+ ~—— (5.45)
w( _§_|_...) w

OoOo0ooooobobobobboo0buoboboobuoboo0obTaylorDOODOOoOoOoOQ
OooboboobobooubooboboobdD Lavrent DOODO0OO0OO0O0O0ODO0O
gobobooooobooo

5.3 UOOoOOO

gboboudggbbboooobboooobbooobbbooobboogooboboon
gbobbuogouooobbooooobbuoooobobboo

exp z + exp(—z) exp z — exp(—2)

cosh z = 5 , sinhz = 5 (5.46)
godddobooobobbbooooooouooooon
cosh(iz) = cosz, sinh(iz) =isinz (5.47)

ooooooo
000000 o0oooooooooooooooooooOoooUD 22000
0000000000000 oooodooooooo
O000oo0oooouoooooon
sinh 2 _coshz

1
tanh z = , cothz= — , sechz = , cosechz = —
cosh z sinh z cosh z sinh 2

(5.48)

gbobobuoggobbbooobbobbogobobuoooobboooobobogao
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54 0O0O0OO
goddoooooobobbbboooooooouooooon
w=1logz & z=expw (5.49)

gooo
gbboogboboodbib 2 0000bbooobbuoogooobboobboon
gobbuoooobbobuoooobobooooooo

expw = exp(w + 2nmi) (n =0,+£1,4+2,--) (5.50)

gbbbodooobbdooobbuoodbboooobboooobbooobboooobn
gobobogogoboood

exp(w; + wy) = exp wy exp wy (5.51)
ooooo
log(z122) = logz; + log 2o (5.52)

goooo
000000 0000000000000 z=|zlexplargz) DO OODOOOO

logz = log|z| + log{exp(iargz)} = log|z| + iargz (5.53)
00000000z, 0000000000000 000000Wm 20000000000
logz = In|z| +iargz (5.54)

gbobbogobobogobboogobbuooobobooobbooooobooogooboon
gbobboogbobbobooobbboooboboo

Logz = In |z| 4+ iArgz (5.55)

O000000D0O0O0O0DLegz 00000 Argz 00000ODOOOODO

5.4.1 U0OOOOOO

gbobbugogbobougoobobooooboboooobbbuoooobooa

exp(w; + wy) = expwiexpwy = log(z122) = log 2z + log 2, (5.56)
1 1

exp(—w) = = log—=—logz (5.57)
exp w z

gdddoooobobbbbbodddnbbO0oOoQono
log 2" = nlog z (5.58)

gbobobooooboo
gboobbodbbuotobiotlbargz: UDOUOODODOODDODOOLOOOOODDOOO
gobbuoggoooooooo
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5.4.2 UO0OOOOOO

gbbbouogbobbuoooobbboogbbbbuooobbbod

d 1 1 1
w:logz:>z:expw:>—w:d—: = - (5.59)
dz  §Z  expw 2
goboboooon
d 1
—1 = - 5.60
3, 1087 =~ (5.60)

gooo

5.4.3 0000 Riemann [

OO0b00o0d legz000000000O000O00DO0O00D 2 00000000O0OO0OODOO
OoOobooobobooobobooobuobbobooboboooobobuoboblw=logz
gbbObOzz=000000000000000000L0DOOO0O0OODLDDOOO

O00000000000000000000oooooo0¢=1/-00000

1
log( =log— = —logz (5.61)
z
Oo0o0d0(—-00000D0z—-000D000000O0DO0000OODOO

gobobobbuoooooooboobbooooon
OO00OD0DRemann OO0 0000000000 0OO0ODOO0O

00000000000000Arg:00000000< Imlog 2
Argz < 2r000000000000000000000 Al
00Logz 00000000000000000 27 00 \

gbobbuoodgobbbtde>00000 27l

nl_1>rJrr10 Log(a —in) = nl_1>rJrr10 Log(a +1in) +2mi  (5.62)

oo ooooooooouoooo -2

O00Gauwss DO0OO0OO0ODO0DOOOOOOODOOOOOO C

O00OnO00oooooogo '4“'\\|
2mn < Imlogz < 2m(n + 1) (5.63)

0 5.2: Riemann O O0O0O0O0O
gddddodoodotdMerO0ooooooooooo Gauss DO ODODOODOOOODOOO
dddOnO0U0bd0doooodoooouoooo OImlogzO00O0O0O0OD0OOOOOOO
00d000o0oob0ooooodob0ooodO Riemann Gauss DO OOOODOOOOOOO
000000000000 legzO00O00O0OOOOODOO goooooouoouood

gobobobbuogoooobbobbuodooooon
gbobboodgobbobooobbbs2bddd

gbuogbouogbbd 2z0000000000000000O0O0OOLOOOODOOODLOOO0
OO0000000 Riemann O O0O000O00D0O0D00O0000O00O0 Riemann ODOOOOO
goo
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HEN

OO0000O00ORemann OO0 O00O0O0OO0O0ODO0ODOODOO0OO0ODOODOOOODODOODO
0000000000 Argz OO00OO0O0OO0ODOOODOODOOOODOODOOODOOOO
OobooooboobooobobooobobobobobOobooboobobO0obUdRiemann OO0
gbboogobbuoogbbbuoogbbouooobbboooboboobbbuooabn
gooobdad

-1 < Argz <7 (5.64)

DoOooodbooboobbodbudbd Legz:0ODOODOO
gobbouoggbbbogobboogobboooobbooobboooobobooogn
gbboooobbooobbbooobbuooobboooobbooobboooobn
gbobbogoooobboooobobobooobbbuooobboooobboooboon
gobobogggobood
Ooboooboooooooobooboooobobooboooobooogobblegz000
godboggbobogobuogbbugubugobooogbooobboboboooboon

5.5 U000

gboogobogobug x0bbgubbogboobtdpbbobbgbboooon
gbboboogbbobooobobn

2 = exp(plogz) (5.65)
Jodddddupboogg
exp(plog z) = exp(log 2?) = 2P (5.66)

gbobbuoogobbbddpouobbbuoobbbbouooon

5.5.1 UOUOOooon

oo
% = % exp(plogz) = pdlogz exp(plog z) = p% exp(plog 2)
= pexp(—logz)exp(plogz) = pexp{(p —1)logz} = pz#~* (5.67)
oo

5.5.2 HUOOOOODOO

oooogooboboboboboobobobobobobobobobomobon
O0000Ologz=1In|z|+darg: 00O OO0

w = 2P =exp(plogz) = exp{pln|z| + ipargz} (5.68)
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0000
00000 pO

p = a+if (5.69)
00000000o0o0o0
w = exp{(a+if)ln|z| +i(a+if)argz}
= exp{aln|z| — Barg(z) + i(31n|z| + aargz)} (5.70)

goboobbouggbouogbbooobugg puoobbogbboobbboonoon
gbobbooogon

B£0000

0000O00parg(z) 00000000000000000000Oexp{—parg(z)} O arg
0000000000000000000000 8#00000000000000000

B=0000
Joddddpbbbooogo

w = =exp(aln|z| +icargz) = exp(aln |z]) exp(icargz) = |z|“ exp(icargz) (5.71)
goddooooobbbbbodddddubbee bbb O

O00000 O00000cwargz 0 27 00000000000000OOexp(icargz) 00
gboboboooobbbuooobobbboogoboo

JO0000n0 dddddle 0000 oooon
£« mooo) (5.72)
o= — m .
m b

O00000000000000DOargz=Argz+2rn 00000
: 4 ! 4
exp(iaargz) = exp § i—(Argz + 27n) p = exp § i—Argz p exp  i2mr— (5.73)
m m m

gbobboogoobbbbudidnUd mooobobbbooooobbbbibibd w
gogooboobobobobidn=0,1,---,m—-10 mUO0OO0O0OOOOOOO0O0O0O0OOOOm OO
ooobooooobdmiboboobObOobo0bO0m OO0 Riemann 00O OO0
goo

gobobo obbboogobobodm=100000000000000000D00O0
U00000 Riemann OO0 O0OO0D0OO0OD0O0O
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el ULOLOOUOOUOO

gbbbodooobbooobbbodobbbouooobbooobbbooobbboooobn
gboooboogn

6.1 OO0

Oo0o000bobdbtbedbO bOO00000OO0DLOODLODOODODODODODOOOOO
oboobooobooboboboboobooboboobobobobtded oo O
O00000Gauss DODOODO ¢« 00 Gauss DOOODO b O0O0O0O0O0O0OOOOOOOO
gobobooooggn

0000000000000000000 f(:»))0e00 0000 COODDOOOOOOO
HEN

/G(C)bf(z)dz, /Cf(z)dz (6.1)

OOob00oO0oobo0oboo0ob0bD eDOO0 VODOOOODO CcODODODOODOODODODODODOO
gbobbuoooobbbooobbbodg bbboo

0000000000000000000
00000000000000000000
00000 CO NOOODOOOOOOOO A z
0000 N -co000000000000
0000000000 000000000
0000000000000000000
00 2z, (n=1,---,N—-1)0000000
0 z=az=b00000000000
000 n—000000 [201, 2,] 0000
00000
0000r-0000000000 ¢, 00
00000000 »—000000000
00000000000

Sy = g: f(G)Az, (Azy = 2, — 2,1)(6.2)

n=1 061:«00 0000 CcOOOODOO
0000000000 —ooO000O0000 poboooooodooodooogn
0000000000000 00000O0
oooono

45



/ f(z)dz = lim Sy = lim fj F(C) Az, (6.3)
C N—)oon:1

N—x

gooo

6.1.1 0OOOOOOOO0OOOO0OOO0

00000000000000000CO00000000CO0000000000000
obooooboboboobdd ne N-nUUO0O0OODOOODOOOODOODOODOODO
gooo

Az, < —ANzn_, (6.4)

gbobbuooobbbuoooobbon

d:_/ d 6.5
L1z =— [ fz)a (6.5)
0000 000eO bOOO ¢0000000 CO C, 0 C, 0000000000000
A IE A IE
b

Y

U 620000000 063 000000on

oooc=C,+¢;oo0goooboooooboooobooboobooooooooboboo
gbobbuooggooon

/ o FENz = / PO / OIS ([ e [ az) 12 (6.6)

D00MO000000D000Doooom
D00000D0000D00000D00000000 2000 A2000000000000
O000000000000z=2+iy000000000000000000Az =Az+iAy
00000000000000000dz=dz+idy 00000000000000000O0
O00000dy =00000000000000de =00000000z2z=re? 0000
r—r4+dr,0—=0+dd 00000000000z = 2z+dz = (r+dr)e’® ) = (r 4 dr)e?eidd
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OO0000O0bO0b0O0Ode dr,dd 0000000 OO0OO0ODO0ODOODODOOOODOOOODOO

gobooodgg

dz = e“dr 4 ire’d (6.7)

ooobobooboooobooboboboooobobDobobooboooOobdr=000
OoOoO0obO0o0obO0obooO0boobO0oobooboboobOoOodd=000000DOODOODOO

gooo

6.1.2 OJOOOOOOOOO

00000000« OO pOOODODOO
O0000Gauss DOOODO e OO Gauss
00000 p000000DO0DO0DODO0O0O
00d00d00o0ooooooboooooono o
DDDDDD/ f(z)dz000 ¢, 0000

DD/ 2)d: 000000O0O0ODOOOO

DDDDDDDDDDDDDDDDDDD
gboboobdaog

00 00000 f(z)=1000

Y

064l b000000O0O0O0O0O

gbobboooobbbuoooobbbooobbbbug 1obbobod

N

Sy = ZAzn—Z n— Zn_1)

n=1

= (-a)+(-m) 4

—|—(ZN—ZN_1) = ZN — 20 =b—a (68)

OO0O0ON —-occU00O0OO0OO0OOODOODOODOOOOOOOOO CcOODOO

/Q(C)b dz=b—a (6.9)

gooo
HEN

1) 00000 0 000000000000 CO0DODODOOOOOOOO0ODODOOO
000000000 ¢ 0000000000dy=00000000f(2)=20000

gooboogogn

C1

/ f(z)dz
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= / xdr = = (6.10)
0 2



gobobuooogobootd

1
000000 f(2) =5(z+2) 000000 Ca
01+:0000000000000 2 > 1+2
1.CL =1 (0 = 1) + (1 — 1 414) c:
3 c
2
202203(0%7,)4—04(2—)14—7,) A CS A
goggoooooooood—-00400n0 C1 1

U 65 000gagoon

OO0000000e 0000 z=10000dz=0000000

1
/f(z)dz = /1><idy:i (6.11)
c2 0
goooooooon
1
dz = —+1 6.12
1@z = 5t (6:12)
godad
2)00000000000000000000DOO000000O0O0ODOO0O0O0
1
/f(z)dz — /Oxidy:O (6.13)
c3 0
godn
1 1
/f(z)dz = /xdx:— (6.14)
C4 0 2
gogd
1
/ f(o)dz = - (6.15)
Cs 2
gogd

3) 0000000y =2 00000000002z =y=t00000¢t0000O
0000000000000000 +0D00oooooojo,1]o0b00o0oooon
z=z+iy=(14+)t000000d2=(1+¢)dt 0000000000000

[ ses = /Ult(l+i)dt:1_2m (6.16)

gooo

gbobbooogbobboooobbbbooogobooo

gbboudggbbuoobbbuooobbbuooobbbuooobbboobbboon

OO000D000000000 GassDODOODOOOODOODOODODOOOODOODOO
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6.2 Cauchy O0O0OO0O

0000000000000 DbO0D000b00b0oDoOooOooOCauchy DOOOOODOODOO
guddooouoooooboooobbbbbbbboooooooooooooaaa
gdddddguoduoogoooooboobobbbobb oo oouoo
guooooooobobobboooodgn

Cauchy 0000000 M Gauss 00 DODO0O0ODO COOODOOOODODDODOOODODODOO
00 f(z)0CO0D000O0O0O0O0O0O0 O0O00DMOOOOO0OOOODOOO0OO0OOOOO
O00000D000Cauchy-Riemann 0000000000000 O0OOOODOOOOODOO
O0O000000 Stokes DODODOOODO

gobbobogoobbooogouobboooubbobboobobbobooooboboboog
goooodbdooboboooboobobuooonodboobobooboobobooon
O0000000000000mMO0D000 (counter-clockwise) D OO OO0 OO (clockwise)
guooooog

6.2.1 Cauchy OOOOQOOOO

O0O0Green 00000000000 F(z,y) OODOOO

// —dxdy_% Fdy, //Eaa—[;dxdy: —chdSU (6.17)

Rel = 7{ (udx — vdy), ImI = 7{ (vdz + udy) (6.20)
c c

OO000D000 Green DO0OOO0OOD0OODOO

Rel = // — + — dxdy, Iml = // — - — dmdy (6.21)
o Ay

googdoooooooobon Cauchy—RiemannDDDD
ou ov OJu Ov

- 2 6.22
oy ox’ Ox Oy (6.22)

ood0oododoodo oooouooogoo
ff@mz:o (6.23)

gooo

6.2.2 Cauchy UO0QOQOQOGOQOnO

Cauwchy 000000000000 O0000000O00O00OO00O000O00O00O0 6400
00 ¢, 0000000 C,0000C=0C,+C,00000C0000000000000
000000000000000000 f(2) 00000000Cauwchy 0000000000
000000 0000000

ﬁf(z)dz :/ dz+/ z)dz = /1 f(z)dz — /C2 f(z)dz =0 (6.24)
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OOooooobooobobooocuouoboboorE
Ocooooooooooooooomo
O FO0CO0OO0O0ODOOO0 FOOOO
Oo00OoOOO0oOo0ogo¢sooOoooooo
guoddododooouooooooga

ooobmooboboobobtby gD AY
Uz00000000000DOO0000CL E
OO0 ¢00000O0OCO0ODOOODOOOO / C
OO00obmoooobobob cbooo
gobbbobuouooooooobboboo E T

guoddddooooooooooogada
oooboboboboboobobmo

00000000000 m \ >

0oooo 34 / T
fsz(z)dz (6.18)

0000000000 f(z) 0000000

alalals 066: 000 COOD0OD0O0OOODOODO EO

f(z) =u(z,y) +iv(z,y) (6.19)

O0000dz=de+dy OOOOOOOT
gboooboogn

ogooooooooooo

/le(z)dz—/czf(z)dz (6.25)
goooooooooooooooooooooooooooononooonoononooogon
gooobobobootoooooooooooocoooooooobobobobonoooonoooonon
00000000000 OCcOD0OoOO000oooDO00dCauchy DOOOOOODODOO
oottt ooooooooobobobobononoooooogonon
O000000000000000 Gawss OOOOOOOO0OOOOOOOOOOOOOOO
oottt oooooooboobobonononoooonooognon
ogooooooo

6.3 UOOO

gbobougbobobuoobbbuooobboooobbbooobbbuoooobooon

gbobbuooggbbboogbbobboobuoooobbboooobooo
b

F,(b) = / o 2= / f(2)dz (6.26)

a

gbobododgobbuooobbbuooobbbuooobbooobooobobbboooobn
ooo0oobdobdUu egbbOobobob0oooboobob p0bOobOOOODODO 2
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O00000000000F(x:)D0 0000000000000

Fu) = [ £(Oac (6.27)

guooooooog
0000000000 F,(») 0000000000000 00O0
dF,(z) Fo(z+h) — Fy(2)

o m N (6.28)

000000000 b00b0b000b00bdleDO 242000000000 200
oboobD 00 z+A00000000000O0

Fy(z + h) :/

a

z+h

f@ac= [ rac [ oac=RE+ [T 0w 629)
guoodooooooon
AR = Fae )~ B9 = [ F(O (6.30)

00000000000000000000000C=2+A000000000+¢+00000
d¢=hdt 000000

AF, = h/ol F(z + ht)dt (6.31)

Oobooboobo <+ < l10b0bpboooooooboepbOObbDbO mMODOOODOO
f(z+ht)=f(z) DO0O0O0O0O0OOO0OOOOOOOOODOO

dF, ) 1 1
dz(Z) =0 )y f(ZJrht)dt:/O f(z)dt = f(2) (6.32)
O00000000000000 f(,) 000000000000 ¢cOOODODOOO
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Zm n=m
> n! e
= g%ﬁ;jgﬁ%@—a) } (6.47)

00000000000 z=cOOOOOn>mdOoOoOooooooooOon

f(m)(a) = =mle, (6.48)
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